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A The aim is gor your child to he able to recall these gacts
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Key Vocabulary: Number honds to 20
Numhbers to 20 Activity Ldeas:
Ajd . PJJLJ:J P,on,%-ozs,ag o number, child the IWJTLb.QI3
Altogether hond to . For example you . T [3.
Bonds « Nuwmber cards- .match W%Aﬁﬁmmm
Equals '

5.
~eriypday Objects- How many should be ? For
Kz‘z} Questions: example 20 pegs, cover three. Homw nwn«jeﬁtfz legt?

What goes m.ith 17 . . .
o  Top Tip: Children should he E E E
ko .make 20: "P A2 i P sng % %

[ hide __, ho -
xn,a,rl,y,ale%{;tj';v to help them gind the answer.

1+19 2+18 3+17
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Doubles and hawves to 20
Key Vocabulary: \ctivity Ldeas:
+ Begin I ing the .doubles through .adding. So

Bﬁpea%/xmm ,d,oublzbgi/s2+§whj,chqumbs b
Maltiolui « Mowve onto saying .a number .and them instantly
HWIH J ing the .answer. Double 3 is 6. Haly of &4 is 2.
Dividing ) U&P' ‘4p@g{3,4mxzj/58.
Numbere to 20 - lo halg split in the objects into 2 equal
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The aim is gor your child to he able to recall these gacts
instantly. Yoour 2

Key Vocabulary: Naumber bhonds to 100 Spring |

Numbers to 100 - .
Add Activity Ldeas:

+ Ping Pong- a numhber, child the number
Altogether g ,
Bords %%n,d ,ton?OO. or example you say 70. They say
Equals ’ |
Multiples o5 10 . Nufmjs.bzrmndxs,-m,tdmnum,bzr/smnumberbom
Key Questions: + Use moments .in the day- driving in the car;

What goes mith walking to school; or at the park.

muoke ?
ﬂu’ﬁi }wzjve Top Tip: Children should he wsing their ruumhber
m,afbg,az,tedj:? bonds to 10 to help them gind the .answer.
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The .aim is gor ,g,owdul,d,to be able to recall these pacts

instontly. SYzarZZ
/x,a,n,d pacts gor the 105 .and 564%9
AW m/s,tan,wé,a,dxu,t 2»<5,c}ul,dzs,a,g/le

. Ch,ant,thz,tab,l.e/s this r

Use youwr hands to show w}wiwn%mmzypumzdwmg
Write .dow.n the times tables and division gacts. As your child gets
better .at this syou could begin to time them.

Ask questions in context: 0\ .'{:'| 0 0 f“@‘;: 0
There .are 10 pencils in .a pack. [ have 2 N '-x‘i.'».- | \ | -_Ji;- [ 2
How .marwy pencils do I have? 2 x 10 = 20 \ l'f; q;\;? /
I'. /, \\ |
The number facts needed .are on a separate sheet. S A

/ N



The aim is gor your child to he able to recall these gacts
instantly.

x and + pacts por the 105 .and Ss

1x10=10
2x10=20
3x10=30
4 x 10 =140
5x10=50
6 x10 =60
/x10=70
8 x 10 =80
9x10=90

10 x 10 =100

10+10=1
20+10=2
30+10=3
40+10=4
50+10=5
60+10=06
/0+10=7
80+10=28
90+10=9

100 +10=10

1x5=5
2x5=10
3x5=15
4x5=20
5x5=25
6x5=30
/x5=35
8x5=40
Ox5=45

5+5
10+5
15+ 5
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25+5=5
30+5=06
35+5=7
40+5=8
45+5=9

10x5=50 50+5=10
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The .aim is gor ,g,owdu,l,d,to be able to recall these pacts

instantly. Syw 2,
ATumMeers
/x ,a,n,d. pacts for the 25 and 35
Activi
. adult 2 3 child 6.
e ity g cope 223 e e
+ Use your ,tozsh,owwh,a,t,t(m.@s,,tabie,g,ouwzph,amﬁuug

. WJMMM%MMUMWMMAW As syour child gets
better .at this syou could begin to time them.

Ask questions in context:
I have 6 p,auﬁﬁfzs,o,cbs How many socks
do I have? 6 2 = |2.

The number facts needed .are on a separate sheet.
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The aim is gor your child to he able to recall these gacts
instantly.

Year 2

Spring 2

X ond + WWIWZ/SM 35

1x2=2
2X2=4
3X2=6
4x2=8
5x2=10
ox2=12
x2=14
8x2=16
Ox2=18

10x2 =20
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20+2=10

1x3=3

2X3=6

3x3=9
4x3=12
5x3=15
6x3=18
fx3=21
8x3=24
Ox3=27

10 x 3 =30

3+3=1
6+3=2
9+3=3
12+3=4
15+3=5
18+3=6
21+3=7
24+3=8
27+3=9
30 +3=10
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The .aim is gor ,g,owdul,d,to be able to recall these pacts

instantly. Yoar 2

Swmumer 2

Add .and subtract multiples .of 10

Key Vocabulary:

Addition
Suhtroction
E.quals

Multiple .of 10
Counting in 105
Tens

Ones

Top Tip: the children are expected to recall these
gacts instantly. A 100 square is not allowed.
Activity ldeas:

Say a rumber between |10 .and 100. Begin by

adding 10, so0 42 + |0 =
« Say a suumber hetween [0 .and 100. Begin by

taking amw. 10, so 56 - |0 =
. TMMN%M 56 + 20=.and 78 - 40O =

The first nuumber can be a rwumber .of your choice,
hetween 10 .and 100.



